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’ INSTRUCTIONS

I !
l Candidates should read the following instructions care befog answering the questions: |
|
| 1. This booklet consists of 24 pages incl 0 ge, containing 100 questions. Verify the
| Page Nos. and Test Booklet series on age and bring at once to the Invigilator’s notice

any discrepancy.

2. Answers will have to be giveng Sheet supplied for the purpose.
you have to fill in so i n the OMR Sheet. Do not fold the OMR Sheet as this will

result in error in yo

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the

; 3. Before you proceed to mark R Sheet in response to various items in the Test Booklet,
|
)
I
|
|
! OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
L particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

l 6. There will be negative marking for wrong answers. 0.25 mark for each answer.

7. There are blank pages at the end of this Booklet for Rough Work.

| 8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
| Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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X2-x—6 x2+4x-5
"x2+4x-5  x2-4x+3

- 1. Find value
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|
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(D) None of the above

2. Asteroids are found between the orbits of
(A) Saturn & Jupiter
(B) Mars & Jupiter
(C) Earth & Mars
(D) Saturn & Uranus

3. In which country the 2023 Asian Games .
was held? o

(A) China
(B) India
(C) Qatar
(D) Japan

4. Who is the director of the 2023 movie
Oppenheimer?

(A) Steven Spielberg
(B) Greta Gerwig

(C) Christopher Nolan
(D) Martin Scorsese

5. Ifthe mode of data 16, 15,17, 16, 15, x, 19,
17, 14 is 15. Then value of x is ’

(A) 15
(B) 16
(©) 17
(D) 19

x2-x—6 x2+4x-5

1. 3 e et “x24+4x-5 8 x2—4x+3
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(B)

© x—1
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2. (@ 46 THATIE TR AQIHE ST T
(A) 8 IT=ie
(B) S5eT @ g2

- 4C) AR 8 W=
(DY =i 8 ZBE=H

3. G oreet IR (AT 2023 SRS T e
(A) B\
(B) SRS
(C) FlelF
(D) EH=

4. 202331@%@%1151%@@13@%&%@%
&2
(A) Forem Pesmsl
(B) G2lot st
(C) TFEoITR @R
(D) 6w Famm

5. 16, 15, 17, 16, 15, x, 19, 17, 14 OI9F
FRYISF T 15 20, x99 T TR
©(A) 15
(B) 16
© 17
(D) 19




6. Grand Canyon locatedin , ... -
(A) Ghana oo
{B) Bolivia
(C) USA’

(D) France

7. Half of a tank of 21 dcm length, 11 dcm
breadth and 6 dcm depth is full of water. Now if
100 iron spheres of 21 dcm diameter is immersed
completely into the water of the tank, find the rise
of water level in dem.

(A) 21 dcm
(B) 21 dcm
© 2lcm
D) 2-1cm

8. Which State is not a part of ‘Seven Sisters’
of North East India?

(A) Meghalaya

(B) Sikkim .

(C) Arunachal Pradesh
(D) Tripura

.
‘.

9. A pump of 5 HP can lift 36000 It. of water
in 8 hrs. How long it will take to lift 63000 It. of
water by a 7 HP pump?

(A) 10 hrs.
(B) 12 hs.
(C) 15 hrs.
(D) 8 hrs.

10. If the median of arranging the ascending - '

orderof data 8,9, 12, 17, x + 2, x + 4, 30, 31, 34
39is 24. Then value of xis

(A) 22
B) 21
(C) 20
®) 24

H
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, (A) T
L. (B) dfefenm
(C) wiwfae™
(D) #FICs
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B) 21 =HE

(©) 21T

D)2-1 &t

V@ e Bed o eiEte ‘FreA ﬁﬁm
(Seven Sisters/S (€)-49 Wﬁf@ Tqr

(A) @T9IsT

".j B) PR

(©) SFiee gom
(D) fasja

9. 5 SOt el B St 36000 &F: T

| 89T BT ST AT | 7 ST IR AR

63000 f1: &1 GoT0o 3 AR
(A) 107! -
(B) 1291
(C) 15T
(D) 8 TG

10. SHFATIE G 8, 9, 12, 17, x + 2,

' x+4,30,31, 34, 39 WL TG 24 T, x-47 el

.

(A) 22

(B) 21
© 20

(D) 24
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11. The colour that scatters the least by the tiny
particles of the atmosphere is

(A) violet
(B) green
(C) yellow
(D) red

12. With the success of Chandrayan Mission
India has become the country in the
world to achieve soft landing on moon.,

(A) First
(B) Second
(C) Third
(D) Fourth

13. Who among the following is a patt of the
political executive?

(A) District Collector

(B) Secretaryof Ministry of HomeAffairs
(C) Home Minister
(D) Director General of Police

14. Headquarters of South-eastern Railway
Zone—

(A) Bhubaneswar |
(B) Visakhapatnam
(C) Kolkata

(D) Coimbatore

15. If o-8x+§=o-23+2, then value of x is
(A) 3-32
(B) 223
(C) 223
(D) 332

A-d

11, ITGER FY TEIR W @ 78H7 WE
Az fRvgad i GG 2=

(A) @sf8
(B) A&
© =
(D) =&

12, wETEw Ui Sion ARy eReaie v
TR TV B I

(A) 99
(B) fadin
© v
(D), vg¢

13, FERTw R wifteifie o o e
(A) o FiES! (TAB)
(B) TG A
(C) 7o} =R
(D) <AFmia it (Rmdz emite)

14, SRS WiHF-oid GRemE TR vei—
(A) 2ITa
(B) ReirieieT
(C) T=re!
(D) coitaiga

15. o-u%:o-zsu,mmmm
(A) 332
®B) 223
(C) 2-23
(D) 332




16. A man canrow 8 km/hr in still water. If the
river is running at 3 km/hr, it takes 3 hrs. more in
upstream than to go downstream for the same
distance. The distance of place is

(A) 22:5km
(B) 32:5km
(C) 25km

(D) 27-5km

17. The points D and E are situated on the
sides AB and AC of AABC in such a way that
DE||BCand AD:DB=3: 1;if EA=3-3cm, then
length of AC = ?

(A} I-lcm
(B) 4cm

" (C) 44cm
(D) 55cm

18. The value of 110427+ 65++256 = ?

(A) 9
(B) 8
©) 6
(D) 4

19. A pond will be dug in our locality. 24 men
need 12 days to cut that pond. Howmany men will
be needed to dig that pond in 8 days?

(A) 36
(B) 30
(C) 48
(D) None of the above

20. Which one of the following Indian States
has the largest coastline?

(A) Tamil Nadu
(B) Gujarat

(C) Maharashtra
(D) Andhra Pradesh
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16. <3 1% 37 o 8 Bfal/9: e e am, I
e @ived @9 3 [/ @ R @ned Reidics
IR, R T FI0T IS SRR (A 3 -
T R A, O] 63 FE 1ER T

(A) 225 &=
(B) 32-5 R¥fa
(C) 25FR

(D) 275 =R

17. AABC-9F ABYR ACIRE#I DS EfR™M
ENSIT 9XES (@ DE|[BCAR AD:DB=3:1;
T EA = 3-3 Gifil 29, ©R AC-93 07 =¥

(A) 1- 16 :
(B) 4G

(C) 44

(D) 55

18. 10+\/27+\/65+\/ﬁ =?
(A) 9
(B) 8
C) 6
D) 4

19. SN A AFIFOIO A | 24 5 EEH
63 75 BT FTw west 12 fe) 8 e 6% ogw
FBLS (@1 AN

(A) 36
(B) 30
(C) 48
(D) Beitaa @ImIDE 10

20, SIS @IN T TH OBCl FEIRR?

(A) offiEmg
(B) &g4H

(C) T2
(D) wEmT™
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21. Find value of
sin43° cos47° + cos 43° sin47°,
(A) 0
B) 1
(C) sing®
(D) cos4”

22, National Aquatic Championships is a
tournament held in which sports?

(A) Archery
(B) Kho-kho
(C) Wrestling
(D) Swimming

23, Who among the following founded the
Hindu Dharma Sabha in 19th century?

(A) Radhakanta Deb

(B) Ram Mohan Roy
(C) Dwarkanath Tagore
(D) Keshab Chandra Sen

24, The average of 5 numbers is 45. First four
number is 40, 35, 60, 55, then thefifth number is
(Ay 40
(B) 35
(©) 60
(D) 55

25. Galvanisation is a method of protecting
iron from rusting by coating with a thin layer of
(A) Galium
(B) Aluminium
{C) Zinc
(D) Silver

21. sin43° cos47° + cos43°s5in47° =7
(A) O
(B) 1
(C) sing®
(D) cos4®

22, SO TG S rize I BTrG ol Cdet
T S -

(A) ToawiE
(B) cat-cat
©) 3%

(D) e

23, T *etirs & 4l el afofee saw
<2

(A) T (77
(B) FAIGARZA A1
(©) TP ﬁr@
(D) @6 i

24. 54T 51T 45 | 2o 4 16 712471 40, 35, 60,
55 3gE, sigm A T3
(A) 40
(B) 35
(C) 60
(D) 55

25. (FIRICE Y40 AT (AT T 99 o 1
AT AEIsl (RSA ZW (FETSIIRTe™ ) Ot 25
(A) cofferam
(B) it
(©) Wt
(D) Foit




26. Who had won an Olympics gold medal for
India in shooting?
(A) Jaspal Rana
(B) Rajyavardhan Rathore
(C) Manu Bhaker
(D) Abhinav Bindra

27. Measurement of each of 5 interior angle is
172° and measurement of each of the other interior
angle of a polygon is 160°. Number of sides of the
polygon is

(A) 20
®B) 21
C) 25
(D) 30

28. The diagonals of rhombus are in the ratio
3 : 4, If the area of the rhombus is 54 cm?, then the
perimeter of the rhombus is

(A) 48 cm
(B) 60cm
(C) 30cm
(D) 12cm

29. Ifthe angle of elevation of the top of mobile
tower from a distance of 10m from its foot is 60°,
then the height of the tower is

(A) 10m
B) 1043 m
10
© Fo
(D) 100m

30. The image formed on the retina of the
human eye is

(A) virtual and mvened
(B) real and inverted
(C) real and erect

(D) virtual and erect
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26. ST 9T cﬁmwmﬁw
o IR T2
(A) TR el
(B) gL AT
(C) o =leq
(D) wfo=T et

27. o Tegred 57 ST e e
172° 33 GoF SSIFICE i AAfmte 160°)
JTGLEE IR

(A) 20
(B) 21
(C) 25
D) 30

28. 1% «I TAEE FMMHa S 3 : 4 @R

| IR (HETE 54 WED W, =@ o «AifAm =

(A) 48 Il
(B) 60 G
(C) 30
(D) 12 G

29, 5T By «3fB Ry (AT (IaiEE Blewiad
BOIF Tafs @4 60° @R TIEATAT (ollel (AT €]
g 7w 10 ) Sreaigm Swet

(A) 10 fit:
B) 1043 &:

10
: _(C) ﬁﬁ:
(D) 100 fi:

30. SILAR (B0 @IS (1 2T +08 o 2
(A) Seige G2 B!
(B) &3S 932 BTG
(C) =g q=r fgl
(D) w2iFs 93 Figt
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31. What is the full form of SAI?
(A) Sports Association of India
(B) Sports Archery of India
(C) Sports Authority of India
(D) None of the above

32. Lime water reacts with chlotine to give
(A) bleaching powder

| (B) baking powder

(C) baking soda

(D) washing soda

33. The Bengal Famine of 1769-70 was
worsened by

{A) Locust attack

(B) Rat infestation

(C) High levels of taxation
(D) Smallpox epidemic

"34. Find the value of X for which (x— 3)will be
afactor of the polynomial K2x3 — Kx? +3Kx - K.

1
(A) Oor >
@) o
i
© 27

1
(D) Dor ~77

35. The mirror used as rear-view mirror in
'vehicles—

(A) convex mirror
(B) plane mirror

(C) cylindrical mirror
(D) concave mirror

A-8

31. ¢ QG (SAD)-9F 4 1’ e
(A) CiER SR - 3
(B) CGA =61 =i 2
(C) I SR o 2R
(D) <offE g @IAIE T3

32. o & O R Rt e el @
(A) 32 si%em
B) @R ey
(©) RRER el
(D) FIG TIBt st

33, 1769-7051 T TS 25 TR
(A) HTATE S
(B) T 2SI
(©) === dferl 3iag a0
(D) o TV TR ST 4zt

34, K2x3 —Kx2 +3Kx - K T2 S
(x - 3) 93D ST =&, K99 I TJ

1
(A) 0=t 77
(B) 0
1
(C) 27 1
(D) me—ﬁ

35. ot fre o w9 G e AT Ui o
£

(A) TE T
(B) aroe ST
(C) REMITT S

(D) e Sl




36. Artificial flavour for orange is obtained
from

(A) amyl acetate
(B) isoamyl valerate
(C) methyl butyrate
(D) octyl acetate

37. What will be the value of —5%+7i2+9i0 ?
®) =
(B) =
(© 55
@) +

38. Who among the following is the author of
the famous novel City of Joy?

(A) Larry Collins

(B) Dominique Lapierre
(C) Rudyard Kipling
(D) Mark Tully

39. How many kilometres comprise of a
marathon run?

(A) 42
(B) 25
(©) 36
(D) 18

40. If x=2+V3, x4 =7
(A) 2
(B) 23
© 4
D) 2-3

A9
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36, FEANETICS T F9% TS JI2L T4 A
(A) <UIwiEe SpiHTes
(B) SigmAreyisEs e
(C) feize el
(D) w3iZe SIFIes

Ll l mamaseemr

37. E'i'ﬁ 50

(A) <=
B) =
© 35

o)

38, fare Seiey ‘R o w197 GNT e
(A) T T
B) oiff= @i
(C) wfeare feeifere
(D) =% 3

39, Wi (g9 T [FEIRDGIT (e &2
(A) 42
(B) 25
(©) 36
(D) 18

40. T x=2+\/§,x+%-&ﬂﬁw?{@
(A) 2
B) 23
€ 4
D) 2-43
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41. In an Election, 80% voters cast their votes
and the winning candidate got 65% of the cast
votes. Find out the percentage of total voters
supported him,

(A) 26%
(B) 78%
(©) 52%
D) 13%

42, If aperson travels 10 km by bus in- 30 mins.
Then the velocity of the bus is

(A) 10 km/hr.
(B) 20 km/hr.
(C) 30 km/hr.
(D) 40 km/hr.

43. The length of a radius of a circle is 13 cm
and the length of a chord of a circle is 10 cm,
the distance of the chord from the centre of the
circle is :

(A) 12-5cm
B) 12cm

(C) J69 cm
(D) 24cm

44. Tomato is a natural source of which acid?
(A) Acetic acid
(B) Citric acid
(C) Tartaric acid
(D} Oxalic acid

45. Which of the following mirror is used by a
dentist to examine a small cavity?

(A) Convex mirror
(B) Plane mirror
(C) Concave mirror

(D) Combination of convex and concave
mirror

A-10

41. @3 Ffva @wEm bR 80% o
ez 92 Rt 2F awe (eIt 65% o i
e T | B @ eiby sl 7o b
AR 7
‘ (A) 26%

(B) 78%
(C) 52%
D) 13%

42, TR @ FEIE 0T 30 TG 10km =9
RSN L, OIFCE AABH A 77
(A) 10 km/hr.
(B) 20km/hr.
(C) 30 km/hr.
(DY 40 kv/hr.

43. ¢ J0e7 I onf 13 G @R e
SP-9F T 10 GT, 0BT (e (TS TO1-9F HS
(A) 125 @
(B) 121

© oo G
(D) 24 &N

44. B! N ST 2ipfes Bere
(A) OGS SifFe
B) e Wi
(C) BiHifss enife
(D) e Soife

45. FfEiiRe SmatefR W we e @m
(A) Ted SiE=t
(B) e Szl
(C) w=ree St
(D) TESIF T& qIR T I




46. Sodium hydroxide is used
(A) as an antacid
(B) in manufacture of soap
(C) as acleansing agent
(D) in alkaline batteries

47. Which one of the following planets has the
largest number of known satellites?

(A) Mars
(B) Jupiter
(C) Neptune
(D) Saturn

48. Which country shares the longést border
with India?

(A) China "

(B) Pakistan -

(C) Nepal
(D) Bangladesh

0%
49. {(125)"2x(1_6)"§} =2
(A) 10 R
(B) 10”

(C) 107
D) 1

50. Name the two states of India involved in
Cauvery water dispute.

{A) Karnataka and Tarmil Nadu
(B) Karnataka and Kerala

(C) Kerala and Tamil Nadu

(D) Odisha and Andhra Pradesh

A1l - FMRI/22

46. CAIEAT TRGIARE TS
(A) I Faeae
(B) A TeAWEE &0
(C) ~iRFwm +719 &
(D) =age Jivikee

47. (B AEF TAEE QAR YT WO Tojag
I
(A) WA
(B) e
(C) @R
(D) *f4

48. @ afer ) (eia AW eiqred widey

TG SR

(A) B9

B) =
(C) i
(D) e

4. {(125)"% (15)’%} *
(A) 10
®B) 107
© 107
D) 1

50. PSS IO R etawed o i e
e .

(A) =fios @ ol
(B) F16% 8 (T

(C) 3= ¢ SifiEmy
(D) i e Tmare
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51. The product of two positive numbers is %

. and their quotient is —. Two numbers are
(A)
(B)
©
(D)

._.
N

-

th| & | oy ] oun|

thlw | b Wl w|

52. Acid rain is caused by the oxides of
{A) carbon
(B) nitrogen
(C) sulphur
(D) sulphur and nitrogen

53. Which of the following is biodegradable?
{(A) Aluminium can
(B) Polythene bag
(C) Cowdung
(D) DDT

a b ¢ 2a-3b+4c

54, If 5=7=—

2-3°7 P , thevalue of

pis
(A) 10
B) 12
© 11
D) 13

55. The price of a machine in a factory
depreciates at the rate of 10% of the price at the
beginning of the year. If the present price is
Rs. 60,000, then calculate what will be its estimated
price after 3 years.

(A) Rs. 43,740

(B) Rs. 43,700
(C) Rs. 43,640
(D) Rs. 44,740

A-12

51. ¥ MR wagE 10 gk ol L v,
50 2
TR i =T

-

RGN

W | o] —
(FIN T - VI VY N

S

52. RR I FmelE wmite wife 3fRq
FRA? '

(A) S

(B) wiRGIE™

(C) o<

(D)) 558 BB

53, woff® W @R (59 o5 ?
(A) SUERIGE #ig
(B) =t i
(C) k=
(D) fEf&®

b 2a-3b+4c
sa. oy 2-0o g Zazdbrie

3 2 » , p~E99 ¥R
2

(A) 10
(B) 12
© 11
(D) 13

55. @3 Fradg @RieE FT afs =@ 10%
A ZE = | (HRGTE SET 60,000 516 74, 3 39
TR 92 GIPIGTE ToT T

(A) 43,740 51
(B) 43,700 i
- (C) 43,640 il
(D) 44,740 it
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56. PV Sindhu is a champion Indian player in
which sports?
(A) Basketball
(B) Table tennis
(C) Badminton
(D) Tennis

57. Which of the following characters can be
acquired but not inherited?

(A) Colour of skin
(B) Size of body

(C) Colour of eyes
(D) Texture of hair

58. Which among the following is an ethnic
community of Assam?

{A) Bhil
(B) Ahom
(C) Gond
(D) Adi

59. If a commodity is sold with successive
discounts of 20% and 10%, what will be the
equivalent discount?

(A) 28%
B) 30%
(@) 10%
| (D) 20%

60. A person goes 24m west from a place and
then he goes 10m north. The distance of the person
» from the starting point is

(A) 34m
(B) 17m
(C) 26m
(D) 25m
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56. (IR c¥eTive fot & g qaem ohifeia eimein
RIS ?
(A) TEGI=
(B) = G
(C) Irefrsd
(D) G

57. GRufeR WG @G WEW F00 =F e
TeRfESI 0 e T e
(A) TR
(B) (Twzd tew
(C) ®TITM
(DY =t feiat

58. SRS wifosts sremiy @b ?
(A) To=
(B) s
(C) ¢t
(D) wiif

59, @6 TF A9 20% G2 10% =S [F
FAE NG BC XA
(A) 28%
(B) 30%
(€) 10%
(D) 20%

60. e T G et (AT 24 T: Ao
e 3 ©#F 10 i Teafv 39 | T (3w 63
RN

(A) 34 fii:
(B) 17 fi:
(C) 26 &:
(D) 25 f:
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61. A train passes two bridge of lerigths 210m
. and 122m in 25 sec. and 17 sec. respectlvely
Length of the train is

(A) 60m
(B) 70m
(C) 65m.
D) 75m

62. Which one of the following countries is
NOT a permanent member of . UN Security
Council? . : '

(A) France
(B) China

" (C) Japan - .
(D) United Kingdom

63. Thecostofcultivation ofa30mlong pieées '

of land is Rs. 150. If-the breadth of the land be 5m

less, the cost wouldhavebeenRs 120 Thebrcadth ,

of the land is
" (A) 25m
B) 35m
(C) 30m
(D) 40m

64. Whatistherate of sunplemterestper annum,
when the interest of some moneyin 10 years will

be 2 part of its amount (prmc:pal along with

interest)?

2.,
(A) 5§/cn

® 6% . i
© 63% ' '

(D) None :of fhc aboye

65. Who amongst the following male
international cricketer have NO_T scored a double
hundred in a one day international?

(A) Sachin Tendulkar =
(B) M.S. Dhoni

(O Rohit Sharma

(D) Shubman Gill

A-14

61. <3 GR210f: 9 122&:%1{%@'@@?

25 @ a8 17 (- T o At | e (i 5

(A) 60 fit:
(B8) 70 f:
(€) 65 fi:
(D) 75 ™

62. e orielm Wy @W i AR

(A) ¥9

®) W )

(C) TI=ii
(D), F&=1ey

63. 30 f: (IR o S TR TS (/B A
150 5t | Al o 27 5 f: 99 99, O[@ 43
120 it 95 | whfoR &7 2@

(A) 25
B) 35 f:
(C) 30%:
(D) 40 f:

64. ﬁ@ﬂaﬁammwm mw
1035@?%,%% 2 o gAY

(A) 53%
: 1,
B) 63/0

©) 6%%

D) AT @B 7

65. G B o (ErT6 C4ETIH A (TG
“Tige (IGR’ (HR ¥ Fi) FAOS A 2
(A) D (T
B) . (KA
(C) @ifEs *f
(D) wesH foe
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66. My uncle’s present age is twice of my
sister’s age. 10 years ago, my uncle’s age was
thrice of my sister’s age. Find the present age of
my uncle.

(A) 20 years
(B) 40 years
(C) 80 years
(D) 60 years

~¥

67. Which Grandmaster from India played the
Chess World Cup 2023 final against Magnus
Carlsen?

(A) Viswanathan Anand
(B) Praggnanandhaa
(C) Gukesh

(D) Arjun Erigaisi

68. A mixture contains alcohol and waterin the
ratio 4 : 3. If 5 It. of water is added to the mixtute,
the ratio becomes 4 : 5. Then the quantity of
alcohol in the given mixture is

(A) 101t
B) 121t
(©) 151t
(D) 181t

69. A man’s present age is 125% of what it was
10 years ago. His present age is

(A) 40 years
{(B) 70 years
(C) 50 years
(D) 60 years

70. xocyandy=8 whenx=2;if y =16, value
of xis

(A) 2
(B) 4
© 6
(D) 8

66. SIS TIHRRE I AN QARG TSAH
e @ | 10 I S S PP T
TR RIWE FWEE fomed 7@, IR 90w
T T '

(A) 207=3
(B) 40 =
(C) 80 3=
(D) 60

67. 2023 Rl TRl (R TIBAE AN
PR RS (i IO GBI TR 2
(A) Tmmts e
(B) &I
(C) BT
(D) e afiiEf

68 T I SRR @ WE S 40 3
TR0 5 &1 Tt DIt et g0 4 : 5 1SRt ane
Rrieiboe @ siffmie g o ot @

(A) 10 o
B) 12 o=
(C) 15 oo
(D) 18 f&iota

69. < e TS A 10 I oA T4
125%, ©F IEI I8 T
(A) 40 T
(B) 703
(C) 50 ==
(D) 60 %=

70. xcydRy =8 x=2; y = 16 T, x~4F
T 2R '
(A) 2
(B) 4
(SN
- (D) 8
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71. Under which one of the following rivers
has India’s first underwater metro rail tunnel been
constructed?

(A) Yamuna
(B} Ganga
(C) Hooghly
(D) Gomti

72.
9

16

X

26
50
40

16
(A) 16
(B) 4
© 2
D) 8

73. Closest layer to the earth’s surface—
{A) Mesosphere
(B) Troposphere
(C) Ionosphere
(D) Stratosphere

74. Inapartnershipbusiness theratio of capitals

111
g.g.z.lftheymake
a profit of Rs. 3,700 at the end of the year.

The profit share of Badal is
(A) Rs. 1,500
B) Rs. 1,000
(C) Rs. 1,200
(D) Rs. 2,000

of Amit, Angana, Badalis as

75. If the roots of the quadratic equation
4x* + 6Kx + 9 = 0 are equal, then value of X is

(A) 2010
B) -20r0
(C) 2or-2
(D) Only 0

A-16
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72.

73.

74.

PGECERC TG
wre 3,700 Bi< L=, IMTET STOJIe A

75.
T, K-8 i\ I

mﬁamﬁm%maw@w

(A) T
(B) ==l
(C) T
(D) Catiwst

9
16

X

26
50
40

1

16

(A) 16
(B) 4
() 2
(D)8

QST goP e AT TE—
(A) GTAIPERR

(B) GeafRrars

(C) SRIRFaE

(D) W=

93 SR I e, S, IMETR

111
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(A) 1,500 B
(B) 1,000 Bist
(C) 1,200 5=
(D) 2,000 5=

MW 4o + 6Kx + 9 = 0 ANSICIA el 7

(A) 299710
(B) — 2% 0
(©) 259ai -2
(D) &3 0




76. The length of a radius in a circle drawn by
Arun is 7 cm, determine the circular value of an
angle subtended by an arc of 5-5 cm length at the
centre of that circle.

(A)
(B)
©
(D)

A &8 W Eor

77. Buluand Tathagatacandoawork separately
in20days and 30 days respectively. After working
7 days together both of them left away. Then Tatai
came and completed rest of the work alone in
10days. How many days Tatai will take to complete
the work alone?

(A) 20days
(B) 28 days
(C) 24 days
(D) 16 days

78. What is the full form of IPL in cricket?
(A) Indian Playing League
(B) Indian Position League
(C) Indian Passion League
(D) Indian Premier League

79. The ratio of two numbers is 3:4 and their
H.C.Fis 4. Their L..C.M. is

(A) 12
(B) 48
(C) 24
(D) 16

80. The mean proportional of 16 and 25 is
(A) 400
(B) 100
(C) 20
(D) 40

A-17 FMRI/22

76. i SrrCers S Jrea I ol 7 i
W SR YOS 5-5 Gif (ROl et A e Rl
I8 T T3

(A)
(B)
©
D)

(ST I EE R FRCN B

77, T 9R SIS GT5 e Gl G JYP

20 4R 30 WM TR0 AN | SR G 7 T i
I AT AL B Cole)| O Oiei3 9t 4 36 10 T
QREPIEH! (3 FIE| | €3 PHID OTO1R G (18 TS

TS A (3 ? :
(A) 20 =

(B) 28 fax
(C) 24fm=
(D) 16 fa= -

78. % 3 @e (IPL)-a7 *:tm B Fe
(A) 3o (aife foret
(B) 2N #ifemm sl
(C) am i fist
(D) et feiffarz ot

79. 9 YT AT 3:4, O LS. 4 7,
G TJ '
(A) 12
(B) 48
(C) 24
(D) 16

80. 16 €< 25-97 TFTRFE]
(A) 400
(B) 100
(€) 20
(D) 40
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81. Roots of the plants absorb water from the
soil through the process of )

(A) diffusion

(B) transpiration

(C) osmosis

(D) None of the above

82. The theme of India’s G20 presidency .
““Vasudhaiva Kutumbakam’’ or One Earth-One
Family is inspired from

(A) Maha Purana
(B) Maha Upanishad
(C) RigVeda

(D) Smriti

83. Largest river island in the world—
" (A) Sundarban
(B) Majuli
(C) Java
(D) Andaman

. 84, Which number would replace in question
marks in the series ? The series'7, 12, 19, 2, 39.

(A) 24
(B) 26
() 28
(D) 29

~ 85. The Dutch wﬁre defeated by Marthanda
Varma of Trivancore kingdom in battle of

(A) Wandiwash
(B) Panipat
{C) Pullalur
(D) Colachel

81, shted e M (U0 o7 WA (TF [@old
= _
(A) Rerem
(B) oot s
(C) IR

(D) «afem T @AIbE 7

82, S SIS G20 ATAEAA T 7H T4
TpEeN” Sl @ Fe-a #AfRI A P (4T
S ? '

(A) g
(B) AgfSeim
(C) =

D)

83, oz TdgRe THialt—
(A)
(B) wigf
(C) ==t
(D) SFEH

84. 7,12, 19,7,39 4% =fdcs ? Fw @A AR
@?
(A) 24
(B) 26
(C) 28
(D) 29

85. (iU STRIGE ~IRITErs SraAfRie [&Ea
Arema e 2
(A) eaifoen
(B) stz
(©) ==
(D) (FEsE
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86. The degree of the polynomial ./5 is
1 .
(A) 2
B) 2
(C) 1
Dy 0

87. The strait divides Europe from Africa—
. (A) Bosphorus
(B) Bering
(C) Gibraltar
(D) Dover

88. By selling 110 mangoes, if the cost price of
120 mangoes has been got, what will be the profit
percentage?

(A) s%%
(B) 10%
1 0,
© 9ﬁA:
(ID) None of the above

89. The lengths of radii of two circles are 5 cm
and 3 cm. The two circles touch each externally.
The distance between two centres of two circles is

(A) 2cm
(B) 2-5cm
(C) 1'5¢cm
(D) 8cm

90. Shortest National Higliway in India—
(A) NH548
(B) NHS8
(C) NH44
(D) NH3

FMRI/22

86. |5 el SR T

) 5
®) 2
(© 1
(D) 0

87. (PR LA TCN @ M Ree T e
(A) T
B) @fk
(C) Temro™
(D) Core@

88. 110 % =i Rier e 120 T wivw wrgen
(oI S <1 T
(A) 8%%
(B) 10%
(© 95:%
(D) i @R T

89. 76 Jred IPIET ™ 5 G @k 3 G|
I A e W@l Jerfe @EEaE
G TR

(A) 26
(B) 2-5 Gifal
() 1-5@M
D) 8

90, SRS ARG A raow Tlow 7o (NH)—
(A) NH548
(B) NHS
(C) NH44
(D) NH3
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91. Tooth enamel is made up of
(A) calcium phosphate
(B) calcium carbonate
(C) calcium oxide
(D) potassium

92. A train of length 100m, moving with a
speed of 60km/hr passes a tree. How many time
takes to pass the tree?

(A) 5sec
(B) 8sec
(C) 6sec
(D) 7sec

93. Which of the following crop is an example
of Kharif crop?

(A) Cotton
(B) Wheat
(C) Mustard
(D) Barley

© 94, 2 cos3f8 =1, value of =7
(A) 10°
" (B) 15°
(C) 20°
D) 30°

95. Freestyle is NOT an event in which of the
following sports?

(A) Swimming
(B) Wrestling
(C) Archery
(D) Skiing

A-20

91. WTod GHIGHE ASTIE & Tl

92. 100m CEa <= GH 60km/hr MRS,
TETI | G5 I e S0 T FHaEl O 2
(A) 5sec S '
(B) 8sec
(C) 6sec
o(D)«7 sec

93. frsfie @ A =Py e
(A) g
(B) W
©) il
(D) el

94. 2 cos36 =1, 6-4F W X
(A) 10°
(B) 15°
(C) 20°
(D) 30°

95, T35 362 @i 4o «alo wed s e
(A) e
(B) T
(C) fez=ifer
D) =R
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96. Which of the following causes depletion of
the ozone layer?

(A) Carbon tetrachloride
(B) Methane

(C) Chlorofluorocarbon
(D) Carbon monoxide

. 97, Who among the following is the author of
the book ‘Bandi Jiban’?

(A) Rashbehari Bose

(B) Veer Savarkar

(C) Aruna Asaf Ali

(D) Sachindranath Sanyal

98, The length of radius of a sphere is
increased by 50%. How much per cent will be
increased of its curved surface area?

(A) 120%
(B) 125%
(C) 25%
(D) 130%

99, Ifa:2=b:5=c:8then
50% of a=20% of b = %.of c,

1
(&) 125

1
(B) 12%
© 105

(D) None of the above

100. For a two digit number, the sum of two-
digits of number is 14 and if 29 is subtracted from
the number, the two digits will be equal. Two digit
number will be

(A) 95
(B) 86
(© 59
(D) 68

96. @ofew Wy @D vy e w7 ghae

e
(A) IR CRIEERS
(B) s

(€) TR
(D) R TR

97. ‘T G BhH7 o @
(A) DR @
(B) I Areraz
(C) TPl ST wiifey
(D) *bEmid A=A

98. D (A AR T 50% e Fwemt
TWEH CFATH {2
(A) 120%
(B) 125%
(C) 25%
(D) 130%

99, MM a:2=b:5=c: 8WI®
a-99 50% = b-&9 20% = c-¥iq %.

1
(A) 12§

®) 125

1
© 105

(D) oA @iibE w7

100. =10 W STHF RN A SF e TS 14 9%
TR (T 29 Ratst 0T Sl Al 501 172
fefy <z

(A) 95
(B) 86
(©) 59
(D) 68






